## Penn Lake Park Borough (PLPB)

## REQUEST FOR BID

## ADDENDUM #1

## Patching, Pothole Filling, Winter Damage Repair

INTERESTED BIDDERS MAY SUBMIT BIDS BASED UPON THE SPECIFICATIONS SET FORTH AS FOLLOWS:

- 1. The contract will be bid for patching and paving on the attached bid form.
- 2. Work will commence within 60 days of award of contract.
- 3. Work will be complete within 30 days of start of work.
- 4. Work includes but it not limited to saw-cutting, milling, excavation, sweeping, disposal of all milled and excavated material, paving, filling, rolling, and sealing of joints.
- 5. Square footage on the bid form is estimated by Penn Lake road-master. Bidders are expected to verify footage with a field inspection prior to bid submission.
- 6. Bids to be submitted on Bid form. Submit bids in soft copy to:
  - Road-master, Dan Eustice, <u>eusticesteelers@yahoo.com</u> and
  - Borough Secretary, <a href="mailto:plpborosecretary@yahoo.com">plpborosecretary@yahoo.com</a>
- 7. Penn Lake Park Borough reserves the right to remove the items from the bid based on budget considerations.
- 8. Bid deadline is 5:00 pm 5/6/2025.
- 9. Bidders must provide certificate of insurance evidencing coverage for a minimum of \$1,000,000.00 or greater per occurrence under (a) General Liability Insurance, including both property damage and bodily injury, and (b) Automobile Liability Insurance, including both property damage and bodily injury. The said Certificate of Insurance shall name Penn Lake Borough as additional insured under said liability coverage. Also, bidder agrees to hold Penn Lake Borough harmless and indemnify Penn Lake Borough for any action attributable to it, its employees, agents or assigns, for any action or claim made against Penn Lake Borough for any negligence, omission or act on the part of bidder within the Borough of Penn Lake and to reimburse Penn Lake Borough for any costs, liability or attorney's fees resulting from same. All licenses must be maintained in accordance with Federal, State and Local law.
- 10. Direct questions to Penn Lake Road-master at 570-417-9591. You can also direct questions to the Penn Lake Borough Secretary at <a href="mailto:plpborosecretary@yahoo.com">plpborosecretary@yahoo.com</a> or 570-443-8017.

THE ABOVE IS NOT TO BE CONSIDERED AS AN OFFER TO ENTER INTO A CONTRACT BUT IS TO BE USED AS INFORMATION ON WHICH TO BASE YOUR BIDS. PENN LAKE BOROUGH SHALL NOT BE LIMITED TO THE ABOVE CONDITIONS BEFORE ENTERING INTO ANY CONTRACTS WITH ANY BIDDERS. 2025 Penn Lake Borough Road Repair Bid Form

Map #	Address	Approx. Size	Price		Approx. Size	Price
1	~ 31 Terrace	Sawcut and remove material within pothole and fill with warm mix asphalt and seal joints 11' x 6' (66 SF)		OR	Sawcut and mill out 1.5 inches and Superpave 9.5 mm with warm mix asphalt and seal joints 48' x 18' (864 SF)	
2	~ 122 Terrace	Sawcut and mill out 1.5 inches and Superpave 9.5 mm with warm mix asphalt and seal joints 24' x 18' (432 SF)		OR	Sawcut and mill out 1.5 inches and Superpave 9.5 mm with warm mix asphalt and seal joints 74' x 18' (Terrace to intersection with Hollenback) (1,332 SF)	
3	~ Hollenback near intersection with Terrace	Sawcut and remove material within potholes and fill with warm mix asphalt and seal joints Pothole 37' x 9' Pothole 17' x 7' Pothole 3' x 4' (464 SF)				
4	~122 Hollenback	Sawcut and remove material within potholes and fill with warm				

		mix asphalt and seal joints Pothole 3' x 6' Pothole 4' x 4' Pothole 3' x 3' (43 SF)			
5	~46 Hollenback	Sawcut and remove material within potholes and fill with warm mix asphalt and seal joints Pothole 7' x 5' Pothole 5' x 3' (50 SF)			
6	~432 Upper Hollenback	Sawcut and remove material within potholes and fill with warm mix asphalt and seal joints Pothole 4' x 4' Pothole 4' x 12' (64 SF)	OR	Sawcut and mill out 1.5 inches and Superpave 9.5 mm with warm mix asphalt and seal joints 47' x 16' (752 SF)	
7	~437 Upper Hollenback	Sawcut and remove material within edge repair and fill with warm mix asphalt and seal joints Edge repair 39' x 7' (273 SF)			
8	~38 Marilyn	Sawcut and mill out 1.5 inches and Superpave 9.5 mm with warm mix asphalt and seal joints 41' x 13' (533 SF)			

9	~38 Marilyn	Sawcut and mill out 1.5 inches and Superpave 9.5 mm with warm mix asphalt and seal joints 17' x 13' (221 SF)			
	Totals for Column 3	2,146 SF (238.4 square yards)	Totals for Column 6	2,948 SF (327.5 square yards) 2,948 SF minus (options 1, 2, 6 in Column 3) = 2,386 SF (265.1 square yards)	

entremente de la constante de

4

2025 Penn Lake Borough Map of Patching, Pothole Filling, Winter Damage Repair Markout